ver.2

UNDERBODY ARMOUR INSTALLATION MANUAL
(ENGINE BAY/GEARBOX)

MONTAGEEINLEITUNG FUR UNTERBODENSCHUTZSYSTEM
(MOTORSCHUTZ/GETRIEBESCHUTZ)

Underbody Armour for:

Toyota Hilux (2015-)

2333.5710.1
2333.5710.1.6
2333.5710.1.3



EN Regular fasteners
DE Originale montageteile

EN Regular fasteners
DE Originale montageteile

EN Screw a several turns
DE Fir wenigen Umdrehungen befestigen

EN Loosen bolts
DE Bolzen lockern

EN Movement Arrow
DE Bewegungsrichtung

EN Location/Position Arrow
DE Amordrung/Positionsrichtung

EN Screw Arrow
DE Drehungsrichtung




@ 5-13

EN Ratchet
DE Ratsche

X6

x6 |28

M8x30




o/ o/ o _lo/ —

=]

oqo|.|0) o oooo@o_@uo o

= S

xeJ o Lo
onO o

1;2










&Y Mounting requirements:

Underbody Armour is developed individual for each car model.

Underbody Armour must be mounted according to installation manual by an authorized car dealer or by a
special car repair stations.

Underbody Armour is to be installed to original points and holes of the power units of the car.

Installed properly Underbody Armour doesn't scrape another parts and assembly of the car.

Montageanleitung:

Der Unterfahr-/Unterbodenschutz wurde fir jedes Fahrzeug individuell entwickelt. Der Unterfahr-
/Unterbodenschutz ist gemal Installationsanleitung des Herstellers bei einer autorisierten Werkstatt
oder Autohandler zu montieren. Der Unterbodenschutz wird an den originalen Befestigungsbohrungen
der Karosserie montiert. Bei Montage gemaf Herstellervorgaben werden keine anderen Karosserieteile
besché&digt oderin Mitleidenschaft gezogen.

&Y Working requirements:

Underbody Armour is designed for use and drive of the vehicle in conditions considere by the car
manufacture.

While driving the carat speed, cases of collisions with large obstacles and objects need to be excluded.

In the case of a collision with an obstacle Underbody Armour and the vehicle must be inspected in a
specialized car repair stations for damage of the components and assemblies and suitability for further
use.

Herstellervorgaben:

Der Unterfahr-/Unterbodenschutz ist gemaf den Vorgaben des Fahrzeugherstellers zu verwenden. Das
Befahren und Zusammenstolen von/mit Hindernissen und gro3en Objekten ist zu unterlassen. Nach
erfolgtem Zusammenstol® muss die Funktionsfahigkeit des Fahrzeuges und/oder entstandene Mangel
von einer autorisierten Werkstatt Giberpriuft werden.



@&V Warranty:
Warranty period - 12 months.

Gewihr:
Die Dauer der Gewahrleistung betragt 12 Monate.

@&V Warranty terms and conditions:

Underbody Armour is installed on the car, with good condition of the body and the assembly parts (the car,
thatwas notinvolved in the accident).

Absence of mechanical damages of the Underbody Armour caused by a head-on crush;

Compliance with all installation requirements;

Absence of powder coating damages of the Underbody Armour;

The manufacturer is not liable for any damage caused to the vehicle, the life and health of people in the
event of breach of the installation and using of Underbody Armour. The manufacturer has the right to
change the design of Underbody Armour.

Gewihrleistung:

Der Unterfahr-/Unterbodenschutz muss ohne Beschadigung und/oder Anderungen an Karosserie
montiert worden sein. Es durfen keine Schaden durch die Kollision mit Hindernissen/Gegenstanden
entstanden sein. Die Vorgaben der Montageanleitung missen exakt eingehalten werden. Es dirfen
keine Schaden/Kratzspuren an der Pulverbeschichtung vorhanden sein. Der Hersteller ibernimmt keine
Haftung fir Fahrzeugschdden jedweder Art und gesundheitliche Gefdahrdungen durch fehlerhafte
Montage und Nutzung des Unterbodenschutzes. Der Hersteller behalt sich vor, Design und
Konstruktionsdnderungen des Unterbodenschutzes zu &ndern.

All products are certified
Alle Produkte sind zertifiziert

\zation
0\%3“ Tor 5

5,

\oternat;
0

é

23
\)‘2,
nezipie®

AN
ISO
o g

9001 TS 16949



1\V/.\=

UNDERBODY ARMOUR INSTALLATION MANUAL
(GEARBOX)

MONTAGEEINLEITUNG FUR UNTERBODENSCHUTZSYSTEM

(GETRIEBESCHUTZ)

Underbody Armour for:
Toyota Hilux ( 2015-PRESENT )

2333.5711.1;
2333.5711.1/6;
2111.5711.1/3;

WWW.RIVAL4X4.COM



3
%

<~
©)

w,
On
<

(]

&k

A

7

EN Regular fasteners
DE Originale montageteile

EN Regular fasteners
DE Originale montageteile

EN Screw a several turns
DE Fir wenigen Umdrehungen befestigen

EN Loosen bolts
DE Bolzen lockern

EN Dirill
DE Bohrer

EN Screwdriver
DE Schraubenzieher

EN Office Knife
DE Bluromesser

1\V/.\=



4x | M10x30
4x Q10
2x | M8










1\V/.\=

&Y Mounting requirements:

Underbody Armour is developed individual for each car model.

Underbody Armour must be mounted according to installation manual by an authorized car dealer or by a
special car repair stations.

Underbody Armour is to be installed to original points and holes of the power units of the car.

Installed properly Underbody Armour doesn't scrape another parts and assembly of the car.

Montageanleitung:

Der Unterfahr-/Unterbodenschutz wurde fiir jedes Fahrzeug individuell entwickelt. Der Unterfahr-
/Unterbodenschutz ist gemal Installationsanleitung des Herstellers bei einer autorisierten Werkstatt
oder Autohandler zu montieren. Der Unterbodenschutz wird an den originalen Befestigungsbohrungen
der Karosserie montiert. Bei Montage gemaf Herstellervorgaben werden keine anderen Karosserieteile
beschédigt oderin Mitleidenschaft gezogen.

&Y Working requirements:

Underbody Armour is designed for use and drive of the vehicle in conditions considere by the car
manufacture.

While driving the carat speed, cases of collisions with large obstacles and objects need to be excluded.

In the case of a collision with an obstacle Underbody Armour and the vehicle must be inspected in a
specialized car repair stations for damage of the components and assemblies and suitability for further
use.

Herstellervorgaben:

Der Unterfahr-/Unterbodenschutz ist gemafR den Vorgaben des Fahrzeugherstellers zu verwenden. Das
Befahren und Zusammenstofien von/mit Hindernissen und grof3en Objekten ist zu unterlassen. Nach
erfolgtem Zusammenstol3 muss die Funktionsfahigkeit des Fahrzeuges und/oder entstandene Mangel
von einer autorisierten Werkstatt Uberprift werden.



1\V/.\=

&Y Warranty:
Warranty period - 12 months.

Gewibhr:
Die Dauer der Gewahrleistung betrégt 12 Monate.

@&V Warranty terms and conditions:

Underbody Armour is installed on the car, with good condition of the body and the assembly parts (the car,
that was notinvolved in the accident).

Absence of mechanical damages of the Underbody Armour caused by a head-on crush;

Compliance with all installation requirements;

Absence of powder coating damages of the Underbody Armour;

The manufacturer is not liable for any damage caused to the vehicle, the life and health of people in the
event of breach of the installation and using of Underbody Armour. The manufacturer has the right to
change the design of Underbody Armour.

Gewihrleistung:

Der Unterfahr-/Unterbodenschutz muss ohne Beschadigung und/oder Anderungen an Karosserie
montiert worden sein. Es durfen keine Schaden durch die Kollision mit Hindernissen/Gegenstanden
entstanden sein. Die Vorgaben der Montageanleitung missen exakt eingehalten werden. Es dirfen
keine Schaden/Kratzspuren an der Pulverbeschichtung vorhanden sein. Der Hersteller ibernimmt keine
Haftung fir Fahrzeugschéden jedweder Art und gesundheitliche Gefdhrdungen durch fehlerhafte
Montage und Nutzung des Unterbodenschutzes. Der Hersteller behalt sich vor, Design und
Konstruktionsdnderungen des Unterbodenschutzes zu &ndern.

All products are certified
Alle Produkte sind zertifiziert

\zation
0\%3“ Tor 5

>y

\nternatjo,
011071p

é

&
o®

SR
ISO
S

9001 TS 16949



S RIVAL

UNDERBODY ARMOUR INSTALLATION MANUAL
(AD BLUE)

MONTAGEENLEITUNGEN FUR UNTERBODENSCHUTZSYSTEM —
SET (AD BLUE)

Underbody Armour for:

Toyota Hilux (2015-)

2111.9526.1.3 222.9526.1
2333.9526.1.6 333.9526.1.6

WWW.RIVAL4X4.COM



EN Regular fasteners
DE Originale montageteile

EN Regular fasteners
DE Originale montageteile

EN Screw a several turns
DE Far wenigen Umdrehungen befestigen

EN Loosen bolts
DE Bolzen lockern

EN Movement Arrow
DE Bewegungsrichtung

EN Location/Position Arrow
DE Amordrung/Positionsrichtung

EN Screw Arrow
DE Drehungsrichtung




S RIVAL

EN Office Knife

Ratchet <
S-13; < .
Ratsche @ o.17 DE Biiromesser

x1|M10x100/20 ¥ x1 | M8x70/20 x2

11 17

x3 |28 x11 210 x3




S RIVAL




[e]
o, -
O
W o 8;11 g (012
o g

2
\4
(©




s

M10=50Hm

: S

Y|P

. °H M8=24Hm

3 [ ‘

? P

RN
===




*For more info about compatibility with other models
please see the sticker on the skid plate

Insert nut I:AS
TOYOTA HILUX REVO
No.: 9505.1/3 Fuel tank S
Year: 2015-
Engine: 2.4TD; 2.71; 2.8TD
Transmission: All '
FITTING KIT |
g . S ' Bolt M&x25
1 = 10] 1) 55 e DS 4 pe Washer 8
2o NUEMB. . nnnnnnannniinanaimis s R i e s eis sasaaes 4 pc
N B S N O B e e B o B B B B B B B e B B 00 8 pc
d.nsertnUEMB........ ) 2 pc

Nut M8
VWasher 8

Nut M8
Washer 8

INSTALLATION INSTRUCTIONS

1. Remove factory plastic guard.

2. Place insert nuts M8 into apertures in underframe and fix them with wires.

3. Screw bolt M8x25 into mounted left nut, then put bracket on that. Fix bracket with bolts M8x25. Do not tighten.

4. Fix plate to original brads of fuel tank brackets with nuts M8 and washers 8.

5. Fix front end of skid plate to mounted bracket with bolts M8x25.

6. Tighten all screws (50 Nm for M10, 30 Nm for M8, 10 Nm for M6). Do not use pneumatic or power tools to tighten.

S RIVAL

WWW.RIVAL4X4.COM



S RIVAL

UNDERBODY ARMOUR INSTALLATION MANUAL
(LOWER CONTROL ARMS)

MONTAGEEINLEITUNG FUR UNTERBODENSCHUTZSYSTEM
(ACHSSCHUTZ)

Underbody Armour for:
Toyota Hilux (2015-)

222.9525.1
333.9525.1.6

WWW.RIVAL4X4.COM



EN Regular fasteners
DE Originale montageteile

EN Regular fasteners
DE Originale montageteile

EN Screw a several turns
DE Fir wenigen Umdrehungen befestigen

EN Loosen bolts
DE Bolzen lockern

EN Movement Arrow
DE Bewegungsrichtung

EN Location/Position Arrow
DE Amordrung/Positionsrichtung

EN Screw Arrow
DE Drehungsrichtung




x10 (28




S RIVAL

P




S RIVAL

4;7;8

Al A2
ﬂ@\g )@ @ﬁ%
/_W 0 OKOOO Sa h
Y
O \|_—"_"&




Ver.2

S RIVAL

UNDERBODY ARMOUR INSTALLATION MANUAL
(DIFFERENTIAL)

MONTAGEANLEITUNG FUR UNTERBODENSCHUTZSYSTEM
(DIFFERENZIALSCHUTZ)

Underbody Armour for:

Toyota Hilux (2015-)

2111.9527.1.3 222.9527.1
2333.9527.1.6  333.9527.1.6

WWW.RIVAL4X4.COM



EN Regular fasteners
DE Originale montageteile

EN Regular fasteners
DE Originale montageteile

EN Screw a several turns
DE Fir wenigen Umdrehungen befestigen

EN Loosen bolts
DE Bolzen lockern

EN Movement Arrow
DE Bewegungsrichtung

EN Location/Position Arrow
DE Amordrung/Positionsrichtung

EN Screw Arrow
DE Drehungsrichtung




> RIVAL




S RIVAL

2;4;3]/ || L‘.@./




S RIVAL

e

M10=49 Nm

1)
O




S RIVAL

&Y Mounting requirements:

Underbody Armour is developed individual for each car model.

Underbody Armour must be mounted according to installation manual by an authorized car dealer or by a
special car repair stations.

Underbody Armour is to be installed to original points and holes of the power units of the car.

Installed properly Underbody Armour doesn't scrape another parts and assembly of the car.

Montageanleitung:

Der Unterfahr-/Unterbodenschutz wurde fur jedes Fahrzeug individuell entwickelt. Der Unterfahr-
/Unterbodenschutz ist gemal Installationsanleitung des Herstellers bei einer autorisierten Werkstatt
oder Autohandler zu montieren. Der Unterbodenschutz wird an den originalen Befestigungsbohrungen
der Karosserie montiert. Bei Montage gemal Herstellervorgaben werden keine anderen Karosserieteile
beschadigt oder in Mitleidenschaft gezogen.

&Y Working requirements:

Underbody Armour is designed for use and drive of the vehicle in conditions considere by the car
manufacture.

While driving the carat speed, cases of collisions with large obstacles and objects need to be excluded.

In the case of a collision with an obstacle Underbody Armour and the vehicle must be inspected in a
specialized car repair stations for damage of the components and assemblies and suitability for further
use.

Herstellervorgaben:

Der Unterfahr-/Unterbodenschutz ist gemaf den Vorgaben des Fahrzeugherstellers zu verwenden. Das
Befahren und Zusammenstof3en von/mit Hindernissen und grof3en Objekten ist zu unterlassen. Nach
erfolgtem Zusammenstol3 muss die Funktionsfahigkeit des Fahrzeuges und/oder entstandene Mangel
von einer autorisierten Werkstatt tberprift werden.



&Y Warranty:
Warranty period - 12 months.

Gewihr:
Die Dauer der Gewahrleistung betrégt 12 Monate.

&V Warranty terms and conditions:

Underbody Armour is installed on the car, with good condition of the body and the assembly parts (the car,
thatwas notinvolved in the accident).

Absence of mechanical damages of the Underbody Armour caused by a head-on crush;

Compliance with all installation requirements;

Absence of powder coating damages of the Underbody Armour;

The manufacturer is not liable for any damage caused to the vehicle, the life and health of people in the
event of breach of the installation and using of Underbody Armour. The manufacturer has the right to
change the design of Underbody Armour.

Gewihrleistung:

Der Unterfahr-/Unterbodenschutz muss ohne Beschadigung und/oder Anderungen an Karosserie
montiert worden sein. Es dirfen keine Schaden durch die Kollision mit Hindernissen/Gegenstanden
entstanden sein. Die Vorgaben der Montageanleitung missen exakt eingehalten werden. Es dirfen
keine Schaden/Kratzspuren an der Pulverbeschichtung vorhanden sein. Der Hersteller ibernimmt keine
Haftung fur Fahrzeugschéden jedweder Art und gesundheitliche Gefédhrdungen durch fehlerhafte
Montage und Nutzung des Unterbodenschutzes. Der Hersteller behélt sich vor, Design und
Konstruktionsanderungen des Unterbodenschutzes zu &ndern.

All products are certified
Alle Produkte sind zertifiziert

%a ization ,o

/7(;/
o
O
uezgpx@"

AN
ISO
o g

9001 TS 16949

\nternatjg,
(o]

U



	23333.9526.1_21_lg
	2333.5710.1.6
	2333.5711.1
	333.9526.1_Toyota Hilux_ZB_i_KD_ST_AL_instr_Rival_ENG
	2111.9505.1.3, 2333.9505.1,  2333.9505.1.6 Инструкция по установке

	2333.9525.1.6_Инструкция по установке
	222.9527.1_333.9527.1.6_Toyota Hilux_ZDiffer_ST_AL_instr_Rival



